June 4, 2022

Listing Compliance Department BSE Limited. Phirozee Jeejeebhoy Towers, Dalal Street, Fort, Mumbai - 400 001 Board of Director Advik Capital Limited Plot no.84, Khasara No.143/84, Ground Floor, Extended Lal Dora, Kanjhwala, Delhi, Delhi, 110081

Scrip Code: 539773

Sub: Disclosure under Regulation 29(1) of Securities and Exchange Board of India (Substantial Acquisition of Shares and Takeovers) Regulations, 2011 ('SEBI SAST regulations')

Dear Sir/ Madam,

With reference to the captioned subject, I Vikas Garg for myself and on behalf of Seema Garg and Sukriti Garg would like to submit that on October 11, 2021 we collectively hold 27,54,939 Equity Shares representing 6.01% of the outstanding Share Capital i.e 4,58,73,600 of the Advik Capital Limited ('the Company') pursuant to open market transactions as per the details annexed.

In reference to the above, we are hereby submitting the disclosure as required under Regulation 29(1) of SEBI (SAST) Regulations, 2011.

Kindly take this on your records and oblige.

For Self and on behalf of Seema Garg and Sukriti Garg

Vnhessey

Vikas Garg

Encl: a/a

<u>Disclosures under Regulation 29(1) of</u> SEBI (Substantial Acquisition of Shares and Takeovers) Regulations, 2011

Name of the Target Company (TC)	Advik Capital Limited					
Name(s) of the acquirer and Persons Acting in	Vikas Garg					
Concert (PAC) with the acquirer	Seema Garg Sukriti Garg					
Whether the acquirer belongs to Promoter	No					
/Promoter group						
Name(s) of the Stock Exchange(s) where the	BSE Limited					
shares of TC are Listed						
Details of the acquisition/disposal as follows	Number	% w.r.t. total	% w.r.t. total			
		share/voting	diluted			
		capital	share/voting			
		wherever	capital of the			
		applicable(*)	TC(**)			
Before the acquisition under consideration:			()			
a) Shares carrying voting rights						
i. Vikas Garg	-	-				
ii. Seema Garg	-	-				
iii. Sukriti Garg	-	-				
b) Shares in the nature of encumbrance	-	-				
(pledge/ lien/ non-disposal						
undertaking/others)						
c) Voting rights (VR) otherwise than by	-	-				
equity shares						
d) Warrants/convertible securities/any	-	-				
other instrument that entitles the						
acquirer to receive shares carrying						
voting rights in the TC						
e) Total (a+b+c+d)	-	-				
Details of acquisition/sale	-1					
a) Shares carrying voting rights						
acquired/sold						
i. Vikas Garg	12,60,628	2.75	2.75			
ii. Seema Garg	4,600	0.01	0.01			
iii. Sukriti Garg	14,89,711	3.25	3.25			
b) VRs acquired/sold otherwise than by	-	-				
equity shares						
c) Warrants/convertible securities/any	-	-				
other instrument that entitles the						
acquirer to receive shares carrying						
voting rights in the TC acquired/sold						
d) Shares encumbered/invoked/release by	-	-				
the acquirer						
e) Total (a+b+c+d)	27,54,939	6.01	6.01			

12,60,628	2.75	2.75	
4,600	0.01	0.01	
14,89,711	3.25	3.25	
-	-	-	
-	-	-	
27,54,939	6.01	6.01	
Open Market (Refer Annexure 1)			
NA			
October 11, 2021			
4,58,73,600 Equity shares of Re. 1/- each			
4,58,73,600 Equity shares of Re. 1/- each			
· · · ·	-		
4,58,73,600 Equity shares of Re. 1/- each			
· · · ·	-		
	4,600 14,89,711 - - - - - - - - - - - - - - - - - -	4,600 0.01 14,89,711 3.25 - - - - - - - - 27,54,939 6.01 Open Market (Refer Annexure 1) NA October 11, 2021 4,58,73,600 Equity shares of Re. 1/ 4,58,73,600 Equity shares of Re. 1/	

For Self and on behalf of Seema Garg and Sukriti Garg

Vnhesse

Vikas Garg Encl: a/a

Date : June 4, 2022 | Place: Delhi

(*) Total share capital/ voting capital to be taken as per the latest filing done by the company to the Stock Exchange under Clause 35 of the listing Agreement.

(**) Diluted share/voting capital means the total number of shares in the TC assuming full conversion of the outstanding convertible securities/warrants into equity shares of the TC.

Annexure 1

			No of shares			Cumulative	Cumulative
Date	Name	Nature	acquired/sold	Price	Amount	Holding	%
01-Sep-21	Vikas Garg	Buy	225000	2.17	488250	225000	0.49%
01-Sep-21	Sukriti Garg	Buy	225000	2.17	488250	450000	0.98%
02-Sep-21	Seema Garg	Buy	223000	2.20	491090.6	673000	1.47%
02-Sep-21	Vikas Garg	Buy	220000	2.27	499356	893000	1.95%
06-Sep-21	Seema Garg	Sell	-220000	2.49	-547800	673000	1.47%
06-Sep-21	Vikas Garg	Buy	411607	2.49	1024901	1084607	2.36%
06-Sep-21	Sukriti Garg	Sell	-220000	2.49	-547800	864607	1.88%
08-Sep-21	Vikas Garg	Buy	563515	2.69	1515855	1428122	3.11%
09-Sep-21	Vikas Garg	Buy	38106	2.82	107458.9	1466228	3.20%
14-Sep-21	Vikas Garg	Buy	400000	3.10	1239280	1866228	4.07%
14-Sep-21	Vikas Garg	Sell	-220000	3.08	-677864	1646228	3.59%
15-Sep-21	Vikas Garg	Sell	-225000	2.89	-650250	1421228	3.10%
16-Sep-21	Vikas Garg	Sell	-154100	2.76	-425316	1267128	2.76%
17-Sep-21	Seema Garg	Buy	3400	2.90	9860	1270528	2.77%
17-Sep-21	Seema Garg	Sell	-1800	2.90	-5220	1268728	2.77%
17-Sep-21	Vikas Garg	Buy	3500	2.90	10150	1272228	2.77%
17-Sep-21	Vikas Garg	Sell	-2000	2.90	-5800	1270228	2.77%
17-Sep-21	Sukriti Garg	Buy	2100	2.9	6090	1272328	2.77%
27-Sep-21	Sukriti Garg	Buy	300000	3.66	1098000	1572328	3.43%
04-Oct-21	Sukriti Garg	Buy	10500	3.4618	36348.9	1582828	3.45%
05-Oct-21	Sukriti Garg	Buy	183050	3.3204	607799.2	1765878	3.85%
11-Oct-21	Sukriti Garg	Buy	989061	3.59	3550729	2754939	6.01%
Total						2754939	6.01%